o
[N

< d cot(B) >
o
[
[6)]

.............................................

<3 @> (rad)
<)
o R
)

-0.2

Ratlo
L

0.5

3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

— B R//-i Ik%llldl SLE] tl.(J).lzt.lJ) Uérgbd DLU4 U
—— DQMT g{le ste 111020 ea2 5t 4
—— pays

12

t 20 eta g
erlc step2 pllto 0_eta2p5to4p0

— 100

-3 -2 -1 0 1 2 3 93— -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p, > (%)

Ratio

I S R | R N B
TP n (PCA to beamline)

(k=]



	Contents
	Page 1


